Efficiency vs P,

0.05
o
9.045
>
20.04
4]
.035
0]
0.03
0.025
0.02
0.015
0.01F -+ P Feeeeeeeeen e
0.005 i ; :
ol

1.05f---]-+f

Ratio

iy

0.95

=
o
iN

1 10 . Gedf’

—=#— DQM_CKF_XiMinusNOPU_base

—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch3

= 0.1
4
Z0.09
$0.08
(8]
£0.07
©
0.06
0.05]
0.04
0.03
0.02
0.0

o -0 ;
2 |
< iR

1.2 t

1.

wIIII'TIIIIIIIIIIIIII TI11
+——

| —

0.9

Efficiency vs ¢

0.05

................................................

P N LN LR RN RRR RN LR




	Contents
	Page 1


